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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 23 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)  This question paper contains two parts A and B.
(it)  Part A is compulsory for all.

(iii)

Part B has two options : Option — I Analysis of Financial Statements and Option — I
Computerized Accounting.

(iv) Attempt only one option of Part B.
(v)  All parts of a question should be attempted at one place.
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TUS - &
PART - A
(AR Ut T Hi-El & e aais)

(Accounting for Partnership Firms and Companies)

1. TSRS TEY hiH dTcl TTGR o AW % WHT 1 Y HIeieR fohd 37qurd o sifemrgor
7
In which ratio do the remaining partners acquire the share of profit of the retiring
partner ?

2. ‘HHTNI Wik TSH H a1 37d g ?

What is meant by ‘Employee Stock Option Plan’ ?

3. 379 YA o THY Ueh 73 HIHER i W1 o feTU 373eH R} ohidT I18T ?

Why should a new partner contribute towards goodwill on his admission ?

4. THH, 95 9UT SIS THGR & TAT 3:2:2 o I § oW F1ed & | S o TR Tg0 foha
T 3! ¢F TR T 85,000 ft | T 5,000 T A IThT GL L AT TAT | A T YA
T SR @i fohwdi § 6% aTftes SIS o 1Y AT AT | A o TSR TEW B
Tt T 3Tk o foTQ mTerveres st wfaf® shifw |

X, Y and Z were partners sharing profits and losses in the ratio of 3 : 2 : 2. Z retired and
the amount due to him was I 85,000. He was paid I 5,000 immediately. The balance
was payable in three equal annual instalments carrying interest @ 6% p.a. Pass
necessary journal entry for recording the same on the date of Z’s retirement.

5. NI o 31 WY o foeaed i foret wes fufa o1 Ieeim i |

State any one occasion for the dissolution of the firm on court’s orders.

6. Y U § Ui o1 qHUTT |reiert o1 foeed e Argiert wH i foeed g |
3T I ok THY § HRUT ST |

Change in Profit Sharing Ratio amounts to dissolution of partnership or partnership
firm ? Give reason in support of your answer.
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7. Ue fafieg 3 2 100 I & 44,000 THaT A 1 T 20 Ui 3791 N W = &
friftra e =1 s T | wfa srer wfSn =1 spram e weER @ e A 3 30 — 3Teed
R ; T 50 (Nftem wfgd) — AeT W q°T A9-UH qAT 8 I W | ST g1
40,000 37T T 3ATIEH TR TR | 2,000 37N o Teh IVERb, TFaT gum qur Af=m
ITHT <1 YT T 61 T, <l Brgeht @it < T 979 81 715 | 35k 37911 1 807 oL fora
T | e Torfiree o ferfar foamor & “a7er ISt g9ifsw | @i o Fie|’” oft R hifTe | 3

Ronet Ltd. offered 44,000 equity shares of I 100 each to the public at a premium of
% 20 per share. The amount per share was payable as ¥ 30 — on application; ¥ 50
(including premium) — on allotment; and the balance — on first and final call. 40,000
shares were subscribed by the public. All money due was received except from a
shareholder holding 2,000 shares who failed to pay the first and final call. His shares
were forfeited. Show ‘Share Capital’ in the Balance Sheet of Ronet Ltd. Also, prepare
‘Notes to Accounts’.

8. IS, AN T feum uh wH % AIRIGR A qUT 2:2:1 % UG § o Fled o | 1 37,
2016 <1 ATERT i dsft AT T 3,00,000; T 2,00,000 TAT T 1,00,000 ff | BH 1o
T&ieh Jfd a¥ 31 T 1 ¢ il & | 1 TS, 2016 <l TET w1 GaT=d &1 7T |

(%) Tem 31 g T wH <l @A 1 Femeh T 30,000 R TR |
(@) 3ueh! geg <ht fafer qeh @ femm & it Y TT0MT 712,000 61 TS |
Tem o1 e X H <61 gEahi H IURE o (T ST UsHTEET STt HifT | 3

Anuj, Manoj and Disha were partners in a firm sharing profits and losses in the ratio of
2:2:1.0n 1% April, 2016, the capitals of the partners were : ¥ 3,00,000; T 2,00,000
and % 1,00,000 respectively. The firm closes its books on 31% March every year. Disha
died on 1% July, 2016.

(a) On Disha’s death the goodwill of the firm was valued at ¥ 30,000.
(b) Disha’s share of profit till the date of her death was calculated at ¥ 12,000.

Pass necessary journal entries in the books of the firm for the above on Disha’s Death.

9.  weft, TEeh qm Bt Shi wH hl el doit T 1,00,000 2 TAT ST <h SIS & 15% & | fusat
T aut 1 3G 9 T 30,0005 T 36,000 TAT T 42,000 T | ST 3T FedToh IS FH
Tyt o AT (YU Mfthe) % € ot o shT W HAT 7 | BH hl @nfa 6t morr Hifs | 3

The total capital of the firm of Sakshi, Mehak and Megha is ¥ 1,00,000 and the market
rate of interest is 15%. The net profits for the last 3 years were ¥ 30,000; ¥ 36,000 and
3 42,000. Goodwill is to be valued at 2 years purchase of the last 3 years’ super profits.
Calculate the goodwill of the firm.
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10.

11.

12.

67/1/2

W fofies @ twea fafies 6 2 6,80,000 s Teafai a2 T 80,000 1 AT
RIrEw T 7,00,000 % A e 9L FeRAT | 20% T 6T YT <eh GIRT QAT A T PTaH
3 100 S < FHAT 37 Bl 40% o JfIeT T Fifid shteh foham T |

3 oAl @ foTu A ferfires &t qedeni B STTaareh Ustme=n Sfafsat hife |

Hunam Ltd. took over the assets of ¥ 6,80,000 and liabilities of I 80,000 of Ramtel Ltd.
for a consideration of ¥ 7,00,000. 20% was paid by a cheque and the balance by issue

of fully paid equity shares of ¥ 100 each at a premium of 40%. Pass the necessary
journal entries in the books of Hunam Ltd. for these transactions.

I ferfires 3 qof =nfea 10 I % 2,000 3790 {59 W 37 T 14,000 ITH 5T &, 61
FOOT Rt Toram | 221 fondl T4 37T 6 | 50 371 T % 9 Wi of% qui wew o e o fen
T |

37T < BT 9T H: Ftee <Rt e U gfafsat hifsr | 379 gwor @rar off dam
HIT |

Prayuj Ltd. forfeited 2,000 shares of ¥ 10 each, fully called up, on which they had
received only ¥ 14,000. 50 of the forfeited shares were reissued for X 9 per share fully
paid up.

Pass necessary journal entries for forfeiture and re-issue of shares. Also prepare share
forfeited account.

T AT fee U H o TSGR & S deueg § it femd = | 9 | fesn | o e
&7 % 31=q § gd @M1 AV 1@ ST 2 | @M S TURTE 1 Tk o forw 387 garma fea foh
3T Toraor ST&tawe) | oK fear S | aeisn =medt off fop 38 svet feq faafa feee om0
et @ H et fezm St =nfge |

3ok UTETd qdIen 3 I8 TEard foran fom afe o o Swent 3191 @1 fear a1 8 A 98
I gUEH o :3[eh forauor w1 um Seeft | feen wed e T | 31d: I v § 3=
310 AT ITATT I 3:2 T geet o1 Hor foram | & 31gaTa ® aitaaH i faf =61 w4 i
M o1 Yoo % 50,000 Toram T |

() THTIA BT oG HiH o AT AT FHISH TS HIfS |
(@) aeren qn fee & agr & Yot H 31 ol g1 Yol ol Jooi@ i |

Tvisha and Divya were partners in a firm carrying on a tiffin service in Hyderabad.
Divya noticed that a lot of food is left at the end of the day. To avoid wastage, she
suggested that the same may be distributed among the needy. Tvisha wanted it to be
mixed with the food to be served the next day.

Tvisha then gave a proposal that if her share in the profit is increased, she will not mind
free distribution of left over food. Divya happily agreed. So, they decided to change
their profit sharing ratio to 3 : 2 with immediate effect. On the date of change in the
profit-sharing ratio, the goodwill of the firm was valued at ¥ 50,000.

(a) Pass the necessary adjustment entry for the treatment of goodwill.
(b) State any two values highlighted in the behavior of Tvisha and Divya.
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13, fafoqg gmafi (Tshe =l BigRL) TUT AT 981 CIAT 1 TS @A H TITHRI HH &
UYL 31 T, 2016 I 0 AT Td S BH & fogeq w frafefaa amet & fog
LI TSI TFASAT BT | I 2:1 o AT B AT —7TH Sied o | 6

(%) o2 W YHTE TR 10,000 <1 Ueh el o ot | i o <o @ oTH g3 o S
fearrieran 1w |

(@) % 30,000 % <& foeT S 30 37, 2016 T T B <, T PTaE T 29,550 § fowan
T |

() T 30,000 < THFERT = T 10,000 3T TTeh 10% o §g T o o1 AT 3= I T YA
Tehe Teram T |

(F) e <01 HEMA off, T8 0 X ¥ STafcifiaa ot Team T o | 36ehT STATHG fosha
T T 600 T | 38T T + ITIATHA b | 25% & T o foram |

(¥) % 1,000 % A T 30 A foreest bl qui ohid 1 Tt &t a1 ag auft aeelt = ot
& HUT | ITEAfTh STt & T 800 T T HH 7 foha |

(=) Toaea ® T 54,000 HrEfEs |

Give the necessary journal entries for the following transactions on dissolution of the
firm of Aman and Rajat on 31%" March, 2016, after the transfer of various assets (other
than cash) and the third party liabilities to Realisation Account. They shared profits
and losses in the ratio of 2 : 1.

(a) There was a bill of exchange of ¥ 10,000 under discount. The bill was received
from Derek who became insolvent.

(b) Bills payable of ¥ 30,000 falling due on 30" April, 2016 were discharged at
329,550.

(c) Creditors of T 30,000 took over stock of I 10,000 at 10% discount and the
balance was paid to them in cash.

(d) There was an old typewriter which had been written off completely. It was
estimated to realize ¥ 600. It was taken away by Rajat at 25% less than the
estimated price.

(e) Aman agreed to take over the responsibility of completing dissolution at an
agreed remuneration of ¥ 1,000 and to bear all realization expenses. Actual
realisation expenses X 800 were paid by the firm.

(f) Loss on realization was I 54,000.
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14, T qem &1 T BH o HISICR § a7 2:3 % 3T H A -8 §ied & | 31-3-2016
w1 feufd foawo e v a o

ORI R R) et T @)
Gt ;B 1,60,000 Torfrer geafaat 2,40,000

el __ 80,000 2,40,000

2,40,000 2,40,000

ISt W 12% wfa a =t qen fr @ 32,000 i @ 9qq R AT 31-3-2016 1
THTE ¢ aY 1 @19 T 60,000 THERT § wie fezm w | a9 & e R 3 716,000 #
T AT T 8,000 ohT IATET0T foha |

T SHRIRRY feoaforri st T8 €9 | grid T e INeH o foru 3mmerweres wfafs Hife |

Priya and Tina are partners in a firm sharing profits and losses in the ratio of 2 : 3. The
following was the Balance Sheet of the firm as on 31-3-2016.

Liabilities Amount ) Assets Amount )

Capitals : Priya 1,60,000 Sundry Assets 2,40,000
Tina 80,000 2,40,000

2,40,000 2,40,000

Profits ¥ 60,000 for the year ended 31-3-2016 were divided between the partners
without allowing interest on capital @ 12% p.a. and salary to Priya @ < 2,000 per
month. During the year Priya withdrew ¥ 16,000 and Tina ¥ 8,000.

Showing your working notes clearly, pass the necessary rectifying entry.

15. () Trafafad 12% ot o i w tsameEn afafs i

haa fefieg 3 T 100 98 & T 60,000, 12% RO ol 0T 5% & §g W
forar | 54 RUTOT HT I 110% WHHT R |

(@) TrafaRad sEorEi o e ) UsHm=n Tt s .

(i) . fIfiRE 93 100 I % T 3,80,000, 13% 0TI 1 e = Tuge
W forifira foham o o, 38 3 10 I o wan 3ien ° ufafda s foma |
AT 373N T FTHA 25% o Siftrem o fomam mam o |

(i) ETeTeh! fIfeg 4 qd T % 2q ¥ % T 100 T & 6000, 10% Horaai
1 T 97 it 3HUT9 TohaT |

RO SNEE =, RIS SeH e qem st <ht gfafsai 78 i 2 |
67/1/2 6



(a) Journalise the following transaction for issue of 12% debentures :

Ketan Ltd. issued T 60,000, 12% debentures of ¥ 100 each at a discount of 5%
redeemable at 110%.

(b) Journalise the following transactions on redemption of debentures :

(i) M. Ltd. redeemed X 3,80,000, 13% debentures of ¥ 100 each which were
issued at par by converting them into equity shares of I 10 each issued at a
premium of 25%.

(i1)) Dalco Ltd. purchased its own 6,000, 10% debentures of I 100 each at
% 97 per debenture for immediate cancellation.

Ignore entries for Debenture Redemption Reserve, Debenture Redemption
Investments and Interest.

16. 319, 2016 ! 9¢ a2 fafer S oy 2:3 % 39Td ° died &, =1 fRufa foawor f= g

qor: 8
I ¥ ]) gufEt ¥ )

T <1 Goft 5,20,000 | yffy F1 e 3,00,000

ferfer <t Goht 3,00,000 | Tefird 2,80,000

= T 30,000 | ®feh 80,000
2 e 1,50,000 | geR 3,00,000

rafsicioic] 10,000 | 2,90,000

EED 50,000

10,00,000 10,00,000

1 39, 2016 & 9y 1 fafy 3 TRE i Th T AR’ % 9 G Yo9 ¢ 1 o forem e
ITehT T AT ITATT 2 ¢ 3 : 5 BT | TR 379 4Sht <6 foTw % 4,00,000 o @i Sifiem <
319 9T % foT Tehe Tl &8 |
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(%) Y 6! BTN T e T 3,00,000 T 7 |

(@) ff T e 1 AR T 26,000 T HH foham T |

(1) Eferer sxuTi o foTT ST shl STERT 3 5% oh SIS ShaT o |

() WWW? 6,000 <hT Teh GIaT AT |

TR @A, FTIERI o YSfl Wd aUT gifed w4 o1 ferfd faawor dam Hifv |

it HET AT T ATHER & AT 5 2 3 : 2 o I | oH sied & | 31-3-2016 1 301 et

YAl

feraror fort yepm & o
ORI R 3) weafrt ™ (?)

ST THER 26,500 | 6 25,000
HH=Rl wioss ffy w 23,500 | eeR 30,000
CIRCEIR ) 1,00,000 | w2 55,000
IRl 50,000 | Tmft gEafaat 1,20,000
T T it 40,000 | fermoe =t 10,000

2,40,000 2,40,000

1-4-2016 I 3Tfca 3 STaehTS TEUT H o1 | 30 3699 o ToTQ Foid TSI R Hgn i g3
(%) TR BT oA STahT TEvT <l fafr & qd o9 at & 3da @y < g a9t &

T Tema ST | fUSel oSt ohl &1 o

2013-2014 X 55,000 ; 2014-2015 X 65,000 ; 2015-2016 X 60,000

67/1/2
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(@) T et sl € 25,000 8 SGHT AT |

(TT)  ¥2Th T JeATehA T 5,000 3TTereh fohart T |

(") 3AfE I T 20,000 BT IO G L QAT 71 T AW I 3G R0 @A H
TR R feam T |

T T, ARt 3 o e de g e e e o i |

The Balance Sheet of Madhu and Vidhi who are sharing profits in the ratio of 2 : 3 as
at 31% March, 2016 is given below :

Liabilities An(l;;l nt Assets An(l;;l nt
Madhu’s Capital 5,20,000 | Land & Building 3,00,000
Vidhi’s Capital 3,00,000 | Machinery 2,880,000
General Reserve 30,000 | Stock 80,000
Bills payable 1,50,000 | Debtors 3,00,000

Less : Provision 10,000 2,90,000
Bank 50,000
10,00,000 10,00,000

Madhu and Vidhi decided to admit Gayatri as a new partner from 1% April, 2016 and

their new profit sharing ratio will be 2 : 3 : 5. Gayatri brought ¥ 4,00,000 as her capital

and her share of goodwill premium in cash.

(a) Goodwill of the firm was valued at ¥ 3,00,000.

9
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(b) Land and Building was found undervalued by X 26,000.

(c) Provision for doubtful debts was to be made equal to 5% of the debtors.

(d) There was a claim of ¥ 6,000 on account of workmen compensation.

Prepare Revaluation Account, Partners Capital Accounts and the Balance Sheet of the

reconstituted firm.

OR

Ativ, Meha and Nupur were partners sharing profits and losses in the ratio of 5 : 3 : 2.
On 31-3-2016, their Balance Sheet was as under :

Liabilities A“;‘;;‘“‘ Assets A“(’g;‘“t

Trade creditors 26,500 | Bank 25,000
Employees’ Provident Fund 23,500 | Debtors 30,000
Ativ’s capital 1,00,000 | Stock 55,000
Meha’s capital 50,000 | Fixed assets 1,20,000
Nupur’s capital 40,000 | Advertisement expenditure 10,000
2,40,000 2,40,000

Ativ retired on 1-4-2016. For this purpose, the following adjustments were agreed

upon :

(a) Goodwill of the firm was to be valued at 2 years’ purchase of the average profits
of 3 completed years preceding the date of retirement. The profits for previous

ycars were

2013-14 % 55,000; 2014-15 X 65,000; 2015-16 X 60,000.

(b) Fixed assets were to be increased by ¥ 25,000.

(c) Stock was overvalued by ¥ 5,000.

(d) T 20,000 were immediately paid to Ativ and the balance was transferred to his

loan account.

Prepare Revaluation account, Partners Capital Accounts and the Balance Sheet of the

reconstituted firm.

10




17. gl U2y fafire 3 2 10 9% % 1,60,000 T9ar 311 i T 3 gfd 379 & Hiftem @
forifira e o foru e s forar | TSt o1 sywram forer srepR & e o

AT W — T 6 Ui 3197 (3 1 Siferem wfEa)
& W — T 3 9l 3191 (3 1 Siftem wfza)
T TF < I W — I

1,80,000 3731 < foTu 3T1ee ITH 5T | 10,000 37T o foTT 3TeeHt i T8 o fearm mm aen
I 3TAehT bl ST STTUR W 379N 1 A& L TG T | 3reied W e AT
IS ST FHTAIS A6 T ¢ TS H o foram | 3fecd &1 Biget T8 3,200 370 1
SAtses fomam T o, gt IreETd 9 ot TS 9 UTH Bl S | 3Heh 37 kT BT R for
T | 0T foR TR 7S O | 3N 39N 1 T 43,000 T YUt ved YA fifira o feam e |

I el & T A15g =g fafies s qeaehi § 3Tewes UsHmm=n Sfafsst
T | 8

CDE]

firdt fafies 3 2 100 I8 & 27,000 3390 =1 Fifi s & foiw 3mees smmf=e o |
YA 7 TR & T o

e T — T 50 Ifd 379
3EeH W — T 10 gfd 379

T qT T JT=E1 W — A
40,000 3791 < ToTT 3TTeeH STH T | 7,000 37T 3 IATeIGhI ! IOT 3TTE HL feam = |
I 3TTSGehI I AT STEIR T 20,000 3T T e HL fgam T | 36 W IH
TR T 1 FHTAISH STTEH T AT T ¢F TR H L o T |

600 37911 <l Th Gk, TR, S 39 Aol & Trafra off 58 qof smees femen o, A
FTEHT T BT YA e 5 T8 L e | 315 51t 39 2oft § st~ on 58 o7t &
e ST STER WX fehall T=1 T, 3 379+ 200 370 W 3TCIEH o IR s A=
TET fopa | 315X 6 3T9TT BT W AT JTf=H ATSAT <6 9T 80T L fotarm T | g 37 ol
e | % 105 Wi 3791 0t et 9A: Fiferd ot feem |

TET YT &, e I Grdl a1 31 JrEHT Grar Wietehl 3TE aHeH &
fore Tt ferfiree 6t qeaenl # STTawareh UsHH= St SifT |
Nitro Paints Ltd. invited application for issuing 1,60,000 equity shares of ¥ 10 each at
a premium of ¥ 3 per share. The amount was payable as follows :
On application — X 6 per share (including premium ¥ 1)

On allotment — X 3 per share (including premium X 1) and
the balance — on first and final call.

67/1/2 11 [P.T.O.



Application for 1,80,000 shares were received. Applications for 10,000 shares were
rejected and pro-rata allotment was made to the remaining applicants. Over payment
received on application was adjusted towards sums due on allotment. All calls were
made and were duly received except allotment and final call from Aditya who was
allotted 3,200 shares. His shares were forfeited. Half of the forfeited shares were re-
issued for ¥ 43,000 as fully paid up.

Pass necessary journal entries for the above transactions in the books of Nitro Paints
Ltd.

OR

Midee Ltd. invited applications for issuing 27,000 shares of ¥ 100 each payable as
follows :

% 50 per share on application
% 10 per share on allotment
Balance on first and final call.

Applications were received for 40,000 shares. Full allotment was made to the
applicants of 7,000 shares. The remaining applicants were allotted 20,000 shares on
pro-rata basis. Excess money received on application was adjusted towards allotment
and call.

Asha, holding 600 shares was belonged to the category of applicants to whom full
allotment was made, paid the call money at the time of allotment. Ankur, who
belonged to the category of applicants to whom shares were allotted on pro-rata basis
did not pay anything after application on his 200 shares. Ankur’s shares were forfeited
after the first and final call. These shares were later reissued at I 105 per share as fully
paid up.

Pass necessary journal entries in the books of Midee Ltd. for the above transactions,
by opening calls in arrears and calls in advance accounts wherever necessary.

quE -
PART - B
faspea — 1
Option — I

(ferita faawoTt @t fagergon)

(Analysis of Financial Statements)

18.  UHt wen Tfeferfer o1 Ieregor ST St Tckieh TehR o 32M o foru wens forcfia nifafafr 2

67/1/2

Give an example of an activity, which is a financing activity for every type of
enterprise.
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19. U fouy afy 4 Uehg waTg foewor 3zm <t fafim nifafafemn @ Ushe” qon Ushe G’
A1 Td STRIATE ST @ | Uehe ToiTe foremu 9uR st & 3298 § ‘TUehe’ vl 379 & |

Cash Flow Statement shows inflows and outflows of ‘Cash’ and ‘Cash Equivalents’
from various activities of an enterprise during a particular period. Give the meaning of
‘cash’ for the purpose of preparing Cash Flow Statement.

20.

21.

67/1/2

(%)

(@)

(a)

(b)

TS TUT R 9991d 3G A T 1,00,000; =1e] FHRiET T 4,00,000; =Te] GIand
T 2,00,000; H T 20%; TR gwtqEa T 6,00,000; 10% EE-3tafe wo
% 4,00,000 |

a9 W g <Y oET AT |

Teh I hl AT T Fehed oTH hl & 25% & | 8R! Hehed oTH 2 5,00,000; SHHT
JrRIERe ¥ T 12,00,000 ; 3T <@ 3 3,00,000 TAT =] FFIf@T 3 10,00,000
g1

SHHT IS Yoil T ST [0 HIfT |

Net profit after interest and tax I 1,00,000; Current assets ¥ 4,00,000; Current
liabilities ¥ 2,00,000; Tax rate 20%; Fixed assets ¥ 6,00,000; 10% Long term
debt ¥ 4,00,000.

Calculate Return on Investment.

Rate of Gross profit on cost of a company is 25%. Its Gross profit is ¥ 5,00,000.
Its shareholders’ Funds are ¥ 12,00,000; Current liabilities are ¥ 3,00,000 and
Current Assets are ¥ 10,00,000.

Calculate its Working Capital Turnover ratio.

31 |, 2015 AT 2016 i THH §C AT o fo7w R fafies & = -1 foewor @ v

I 3TTRT oAl foreaor Gam hifsra
) 2015-16 | 2014-15
T qcH.
L) ()
=T 3T 25,00,000 | 20,00,000
HHAR 1Y ©H 10,00,000 |  7,00,000
I @A 2,00,000 | 3,00,000
B 40%

13

[P.T.O.



From the following statement of Profit and Loss of Star Ltd., for the years ended
31° March, 2015 and 2016, prepare a common size statement.

Note 2015-16 2014-15
Particulars No.
Q) Q)
Revenue from operations 25,00,000 | 20,00,000
Employee benefit expenses 10,00,000 7,00,000
Other expenses 2,00,000 3,00,000
Tax rate 40%

22. (%) el sAtafEm, 2013 gt 1 o AR 7= #ei 1 ged fiieni t@ 3u-3fiveni
(afe 8) i rfiepa hIfT :
(i) dsfira srE Il OT;
(i) EHEETHd o foe g |
(@) fercftar fereroit % forverwor 3 foreedl &1 Sewdll w1 Seora HIfT |

(a) Classify the following items under Major Head and Sub-Head (if any) in the
Balance Sheet of a company as per Schedule III of the Companies Act, 2013.

(1)  Capital Work in progress; and
(i1)) Provision for warranties.

(b) State any two objectives of ‘Analysis of Financial Statements’.

23. T g @ e nfafafemn & Tene warg <t o Shifr

Torror 319, 2015 ®) 319, 2014 })
ofe # e 22,00,000 12,00,000
10% &rei-31afer fam 5,00,000 8,00,000
I qn T 6,00,000 4,00,000
I 1,60,000 30,000
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18.

19.

20.

SAfTeh o

3 80,000 @ i T WG (R W T 24,000 1 Joaag™ RN =T A1) I
% 75,000 H =T TRT | 9 % ERH 3 90,000 T JeIgTE ST 79T |

Calculate Cash Flows from Investing Activities from the following information :

Particulars 315t March, 2015 ) | 315t March, 2014 <])
Investments in Land 22,00,000 12,00,000
10% Long term Investments 5,00,000 8,00,000
Plant and Machinery 6,00,000 4,00,000
Goodwill 1,60,000 30,000

Additional Information :

A machine costing I 80,000 (depreciation provided thereon I 24,000) was sold for
% 75,000. Depreciation charged during the year was % 90,000.

gug - g
PART -B
famed — 11
Option — 11

(NI wrEi®)

(Computerized Accounting)

‘ST S HI T AR ? 1

What is meant by ‘Database’ ?

TRFdeiiet aitch | HThgl T TS A, HHATEIT B AT THATS i o {o1¢ 39T fomt
ST ATt TRl I T & T §RT | 1

Name any two software tools for organizing, processing and querying data in flexible
manner.

FHRIEhd TR ATFo o fohral = ATHI I THEATST | 4

Explain any four advantages of computerized accounting software.
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21.

22.

23.

‘B’ HT RN A 7 ¢ Togfea v, Aramo wE @ fhg TR iR 2

What is meant by a “Form” ? How ‘Split Form’ is different from ‘Simple Form’ ?

UY AR & YR 1 T FaTd §U 34 THATET, 511 55 -3TATehat aoT e -fim Tl w
foret gu oIe STaHTRies FTeHl hl STTEwIeharati sl I il ¢ |

Name and explain the type of software which meets the requirements of large business
organizations with multi-users and scattered locations.

‘gufasefl ST’ 1 Fea § fole S et = T o1 9899 § 99sy |

Explain in brief the steps to be followed to change ‘Conditional Formatting.
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